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answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
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It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.
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Part 1 — General marking guidance for GCSE MFL Writing Tests

Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’'s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to go back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Marks will be allocated in the following way at Foundation Tier:

Communication | Content Quality of | Conveying Application of | Total

language key grammatical

messages knowledge of

language and

structures

Question 1 8 8
Question 2 10 6 16
Question 3 5 5 10
Question 4 10 6 16
Total 8 20 12 5 5 50

Foundation Question 1
There are 8 marks for Communication.

Candidates are required to write four sentences about what is in the photo. Each sentence is marked
separately and is worth a maximum of two marks, according to these assessment criteria:

Mark | Communication

2 The relevant message is clearly communicated.

1 The message is relevant but has some ambiguity and causes a delay in communication.

0 The message is irrelevant or cannot be understood.

Statements must refer to what is in the photo and cannot refer to what is not init. ‘I like the photo’ and
similar opinions about the photo, without mentioning what is in it, will score 0. However, if the sentence
reads, for example, ‘I like the photo because it is sunny’, it will score 2 marks.

If the sentence could possibly be true or is very broadly relevant, accept it. For instance, it is acceptable
if the candidate writes ‘The tent is green’, even though the photo is in black and white. However, if the
sentence is definitely false, it receives a mark of 0. For example, ‘There is an elephant’, when there
clearly isn’t one.

It is acceptable to write a figure (eg, ‘There are 2 people’) rather than a word. This is true of all questions
at both Foundation and Higher tiers.

The aim of this question is for candidates to write in the present tense, but other tenses are also
acceptable.

For 2 marks

e The response must be in the form of a sentence, using an appropriate conjugated verb. The same
verb/grammatical structure may be repeated in more than one sentence. eg |'N/ w'plus different
nouns.

¢ Any sentence that is broadly relevant to the photo is given 2 marks. For example, imagine that the
photo is of a man in a café. The student writes, in the target language: ‘It's a man. He’s old (even if to
your eyes he may not be — ‘old’ to a 16-year-old may be different from your perception of ‘old’). He’s a
father (even if this is not apparent from the photo, it would potentially be true). He’s a teacher (he
could be, for all we know).

o The first person of the verb is acceptable, for example: ‘| am/we are playing tennis’.
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¢ There may be linguistic errors, but the message must be communicated without ambiguity.

For 1 mark

e There is no verb and a minimum of two words, for example: ‘230 X 3.

¢ The use of an infinitive in an otherwise appropriate response.

Language error(s) causing ambiguity or a delay in communication, for example: ‘nT1m9 0¥vox o'
A delay in communication because the response is too long, where one part communicates well but
another part does not, for example: ‘There is a family and they are a field’.

For O marks:

¢ The message makes no sense.

¢ A second person of the verb is used, for example: ‘You are wearing a t-shirt’.
e A single word.

Foundation Question 2
There are 10 marks for Content + 6 marks for Quality of language (16 marks in total).

Candidates write approximately 40 words in total about four different bullet points. All bullet points are
compulsory and must be covered, but there is no need for equal coverage of the bullets.

Everything a candidate writes must be marked, even if it is well beyond the suggested number of words.
This principle applies to all writing questions at Foundation and Higher.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria:

Content
Marks | Response
9-10 | A full coverage of the required information. Communication is clear.
78 A good coverage of the required information. Communication is mostly clear but
perhaps with occasional lapses.
5.6 A reasonable coverage of the required information. Communication is generally clear
but there are likely to be lapses.
3.4 A partial coverage of the required information. Communication is sometimes clear but
there are instances where messages are not conveyed.
1-2 A minimal coverage of the required information. Communication is often not clear and
there may be frequent instances where messages are not conveyed.
0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant must be ignored when awarding the mark for Content.
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A minimum number of bullet points must be covered for the award of marks for Content, as follows:

o 9-10 marks: 4 bullet points
o 5-8 marks: 3 bullet points
o 3—4 marks: 2 bullet points
o 1-2 marks: 1 bullet point

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a mark lower than the 9 or 10 is more
appropriate. The more lapses in clarity that there are, the lower the mark is likely to be. All of the
information that a candidate attempts to give in relation to a particular bullet point may be
unintelligible, in which case that bullet point will not have been covered, meaning that a mark of 9 or
10 will be impossible, as the response will not display full coverage of the required information.

The suggested number of words is 40. If a candidate writes four very short sentences of around six or
seven words on each of the bullet points, it will not be sufficient to access the top band.

‘Lapses’ are instances where the inaccuracy of the language is such that there is a delay in
communication or nothing at all is conveyed.

There is no requirement in this question for the candidate to refer to events in the past or future, so
using the present tense only will enable coverage of the bullet points. However, the bullet points tend
to be general and so references to the past or to the future are acceptable. For example, if the bullet
point says ‘Holidays’, the candidate may choose to write about a past or future holiday. Lapses will
occur when there is a mix of time markers and tenses, for example: ‘Last week | will go to the beach’.

There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.

Quality of language

Marks | Response

5_6 Uses a variety of appropriate vocabulary and grammatical structures. Generally
accurate.

3.4 Vocabulary and grammatical structures generally appropriate to the task, with some
attempt at variety. More accurate than inaccurate.

1-2 Vocabulary and structures used may be limited, repetitive or inappropriate. There may
be frequent errors.

0 The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of language, even if
some of it is irrelevant to the bullet points. There are no dependencies between the two sets of
criteria.

Once you have decided on the mark for Content, you should read through the response once more
and decide on the mark for Quality of language. Each band has three strands: variety of vocabulary;
variety of structures; accuracy of the language. Sometimes it will be necessary to adopt a ‘best fit’
approach, because the three strands will not be consistently demonstrated. So, for example, the
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writing may be very accurate, but the vocabulary and structures are so repetitive that a mark in the
3—4 band is more appropriate than the 5—6 band. If you find that two of the three strands fit a
particular band you are likely to award a mark in that band. Whether it is the top or bottom mark in the
band will depend on how well or how poorly the third strand is reflected in the writing as a whole.

This mark is not limited by the Content mark, unless the mark for Content is 0, in which case the mark
for Quality of language must also be 0.

However, sometimes a candidate may only attempt one or two of the bullets in a very short piece of
writing; or they may answer all of them very briefly, using six or seven words. Even if this writing is
totally accurate with appropriate vocabulary and structures, a high mark for Quality of language would
be inappropriate because of the lack of linguistic variety.

Variety of language will be shown through, for example, different adjectives; different persons of the
verb; some variety in the nouns and verbs used.

In this question, you are looking for a variety of language and not complexity.

Foundation Question 3

5 marks for Conveying key messages + 5 marks for Application of grammatical knowledge of language
and structures (10 marks in total).

Candidates translate into the target language a number of sentences in English, totalling at least 35
words. The translation is marked for Conveying key messages and for Application of grammatical
knowledge of language and structures, according to the following criteria:

Conveying key messages

Marks | Responses

5 All key messages are conveyed.

4 Nearly all key messages are conveyed.
3 Most key messages are conveyed.

2 Some key messages are conveyed.

1 Few key messages are conveyed.

0 No key messages are conveyed.

The translation is divided into 12 key messages. A tick will be awarded for each key message that is
communicated, despite any minor inaccuracies. The total number of ticks awarded equates to a mark
according to this table.
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Total ticks Mark
12 5
10/11 4
7/8/9 3
4/5/6 2
1/2/3 1
0 0

When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a
native speaker understand the target language version without reference to the original English?’ If the
answer is ‘yes’, award a tick.

Application of grammatical knowledge of language and structures

Marks | Response
5 Very good knowledge of vocabulary and structures; highly accurate.
4 Good knowledge of vocabulary and structures; generally accurate.
3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 The language produced does not meet the standard required for Level 1 at this tier.

Once you have decided on the mark for Conveying key messages, you should read through the
translation once more and decide on the mark for Application of grammatical knowledge of language and
structures.

¢ This mark is not limited by the Conveying key messages mark, unless the mark for Conveying key
messages is 0, in which case the mark for Application of grammatical knowledge of language and
structures must also be 0.

¢ There is no direct correlation between the two marks, but your first thought should be to see if the
same mark is appropriate. For example, a candidate may have been given 5 ticks and you have
awarded a mark of 3 for Conveying key messages. You may have had to hesitate when deciding on
one of the ticks but gave the benefit of the doubt. This may then encourage you to consider a mark of
2, rather than 3, for Application of grammatical knowledge of language and structures.

¢ If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate and
award a mark accordingly. Not to do so will penalise unfairly those candidates who make an attempt
but commit serious errors in so doing.

e Perfection is not required for full marks. For example, occasional missing accents and minor spelling
errors do not preclude a top band mark. However, if there are numerous minor errors and incorrect
use of accents which change the meaning of a word, this is likely to have an impact on the mark for
Application of grammatical knowledge of language and structures.
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Foundation Question 4/Higher Question 1
10 marks for Content + 6 marks for Quality of language (16 marks in total).

Candidates write approximately 90 words in total about four different bullet points. All bullet points must
be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an

appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria

(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2):

Content

Marks | Response

A very good response covering all aspects of the task. Communication is clear and a lot

9-10 of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is mostly clear but
7-8 perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

A reasonable response covering almost all aspects of the task. Communication is
5-6 generally clear but there are likely to be lapses. Some information is conveyed. An
opinion is expressed.

A basic response covering some aspects of the task. Communication is sometimes clear
3-4 but there are instances where messages break down. Little information is conveyed. An
opinion is expressed.

A limited response covering some aspects of the task. Communication is often not clear
1-2 and there may be frequent instances where messages break down. Very little
information is conveyed. There may be no opinions expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant in the broadest sense must be ignored when awarding the mark for Content.

e A minimum number of bullet points must be covered for the award of marks for Content, as follows:

o 7-10 marks: 4 bullet points
o 5-6 marks: 3 bullet points
o 3—-4 marks: 2 bullet points
o 1-2 marks: 1 bullet point




MARK SCHEME - GCSE MODERN HEBREW - 8678/WF — JUNE 2022

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a mark lower than the 9 or 10 band is more
appropriate. The more lapses in clarity that there are, the lower the mark is likely to be. All of the
information that a candidate attempts to give in relation to a particular bullet point may be
unintelligible, in which case that bullet point will not have been covered, meaning that the maximum
mark will be 6.

You must accept any information which is a plausible response to the bullet point, even if it does not
explicitly mention, for instance, a time or place. For example, if the bullet asks what the candidate did
last weekend, and he/she writes ‘I went to see my grandparents and then went to a theme park’, this
can feasibly be an account of what happened last weekend, even though ‘last weekend’ is not
mentioned. Equally, if the student is asked to say what he/she does on a typical visit to a shopping
centre and they write ‘I buy some clothes and go to see a film’, this is also an acceptable fulfiiment of
the task, even though ‘shopping centre’ is not mentioned.

The bands refer to the amount of information that is conveyed, as follows:

9-10: a lot

7-8: quite a lot
5-6: some
3-4: little

1-2: very little

All of these have to be considered with reference to the suggested number of words, which is
approximately 90. In other words, a candidate who writes approximately 90 words, clearly
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the
other criteria are met. Conversely, a candidate may write much more than 90 words, but the language
is so inaccurate that little or very little information is conveyed successfully and the mark will be much
lower. If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be
conveyed.

The candidate must give opinions in order to have access to certain marks, as follows:

7-10:  two opinions
3-6: one opinion

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 2. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion. A
neutral or descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think
that’. For example: ‘I think that my town is big’.

10
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Quality of language

Marks | Response

A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful.
5-6 Errors are mainly minor. Some more serious errors may occur, particularly in complex
structures and sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two different time
frames, although these may not always be successful. There may be some major
errors, and more frequent minor errors, but overall the response is more accurate than
inaccurate and the intended meaning is usually clear. The style and register may not
always be appropriate.

3-4

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of
the task. Sentences are mainly short and simple or may not be properly constructed.
There may be frequent major and minor errors. Little or no awareness of style and
register.

0 The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Quality of language. A mark of 0 for Content automatically results in a mark of O
for Quality of language but, apart from that, the Content mark does not limit the mark for Quality of
language. However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality
of language.

e Each band has five strands: variety of vocabulary; complexity of structures and sentences; reference
to time frames; accuracy of the language; style and register. Sometimes it will be necessary to adopt
a ‘best fit’ approach, because the five strands will not be consistently demonstrated. Whether it is the
top or bottom mark in the band will depend on whether the criteria are nearer to those of the band
above or below.

¢ |In order to score in the 5-6 band, there must be reference to all three time frames (past, present and
future). For the 3—4 band, there must be reference to at least two time frames. Reference to a
particular time frame may be demonstrated with one example. The verb used to refer to a particular
time frame need not be totally correct, provided the message is clear. These marks are not awarded
automatically and the other criteria in the band are equally important. Notice that references are to
time frames, not tenses. So, for example, the present tense usage in the following sentence is a
reference to a future time frame: ‘I'm going to the concert next week’.

¢ When considering the complexity of the language, you should bear in mind that a) this is the overlap
guestion and is attempted by both Foundation and Higher candidates; b) that the criteria for Quality of
language in this question are not as demanding as the language criteria for Higher Question 2.
However, for a mark of 5 or 6, complex structures and sentences are attempted. They may not
always be successful and this may lead to serious errors because of the complexity of the structure or
sentence which the candidate attempts. Complexity may be shown in some of the following ways:
different tenses; intensifiers; time markers; connectives; subordinate clauses; infinitive constructions.

11
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This should not be seen as a ‘tick list’, but rather as an indication of the definition of complexity at
GCSE level.

The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.

There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.

12
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Appendix 1
Notes on the use of language

The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands
of marks in the Quality of language and Range of language categories. They should not be seen as a
checklist.

Variety of vocabulary
Consider particularly:

e use of synonyms, eg noT1yn/91yn nN rather than just namx »N/AMN K, MNIY DDI1/9waN rather than
just v, 97 ,n9> etc, rather than just 2o

o different persons of the verb

¢ use of more sophisticated vocabulary — though the emphasis is on avoiding a lot of conspicuous
repetition.

Variety of structures
Consider, for example:

¢ use of infinitive constructions followed by prepositions (by 21575 ,2 yo3v), adjectives (1x1 /875 ,5 2wN),
and after verbs (5 ©amx NNIN 9 NIYY Ny TYR/PTYN NN and ..o Mpn...5 N¥N)

¢ use of object pronouns

¢ use of indefinite pronouns/adjectives such as, 5>,ynwn,nwmn etc

e use of connectives such as ...729n0...7V....PUNI....D) NON....pI NY

¢ use of adverbs and adverbial phrases such as 5wn y1iv ,.5vwn5 NNy nmys NN 902

e use of negatives (N9 9x ,x5 915 etc)

e use of comparative expressions (..n 1n»/mMn9)

¢ use of demonstrative adjectives and pronouns (nbxn , NNt 0t etc)

e use of possessive pronouns (*>v Y etc)

¢ use of superlative adjective (21wn »vn ,20 %N, 1N1... etc)

e use of complex sentences and a range of tenses.

Use of complex/longer sentences
Consider:

¢ use of subordinate clauses introduced by eg ...w »75...w »91 5 18,5931 ,7UNO etc
¢ use of relative clauses introduced by ..n mna (x9),..n AN (NY) etc

and, when considering use of longer sentences:

e use of co-ordinating conjunctions: Yax 3\ 3\, 7.
Use of time frames/tenses

e The criteria for Quality of language in Foundation Question 4/Higher Question 1 include ‘references to
two/three time frames’. If a candidate refers to three time frames, it may well be through different
tenses, but equally it could be through the use of the infinitive to indicate an intension for the future:
.2 MPNOIN TRV (future).

e The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’. In this question, a candidate
can impress by showing that he/she can use a good range of tenses, thereby adding to the range and
complexity of language.

13
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Appendix 2

A glossary of terms used in the Writing assessment criteria

NB This alphabetical list corresponds to all questions on both Foundation and Higher papers.

A problem with immediate communication caused by grammatical

ambiguity inaccuracy or a contradiction (eg, ‘I love it because it’s boring’).
appropriate Language which is suitable for the requirements of the task.
coherent Language which is easy to follow with a logical sequencing of ideas.

See fluent’.

complex sentences

Sentences which contain a subordinate clause or clauses.
See Appendix 1 for examples.

complex structures

See Appendix 1 for examples.

confidence

Accurate use of language.

delay in communication

A problem with immediate communication caused by grammatical or
lexical inaccuracy.

fluent

Language which is easy to follow with a logical sequencing of ideas.
See ‘coherent’.

grammatical structures

Structures which are listed in the specification.

justified

The reason for holding a stated opinion.

key messages

With reference to the translation questions on both papers, these are
the key messages as identified in the mark scheme.

lapses

A problem with communication caused by grammatical inaccuracy

linking words

Words such as bax, », used to create longer sentences.

longer sentences

These may be complex, with more difficult subordinations, or more
simple through the use of linking words.

major errors

Errors which impair communication.

minor errors

Errors which do not have a bearing on communication.

A positive/negative verb or adjective used to give an opinion; or a

opinions neutral adjective, such as ‘big’, preceded by something like ‘I think
that’. For example ‘I think that my bedroom is very small’.

secure Accurate.

structures See ‘grammatical structures’.

style and register

The style of writing. Usually this will be determined by the nature of
the task, requiring informal or formal register.

The use of tenses, with or without time markers, which refer to past,

time frames present or future events. A present tense may be a future or past time
frame.
. Use of different verbs, nouns and adjectives which avoid a lot of
variety

conspicuous repetition.

14
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Part 2 — Marking guidance for June 2022 series

Question 01

For this question, students are required to write four sentences. Each sentence is marked according to
the following criteria. The maximum mark is 8.

[8 marks]
Mark | Response
2 The relevant message is clearly communicated.
1 The message is relevant but has some ambiguity and causes a delay in communication.
0 The message is irrelevant or cannot be understood.

The following are examples of responses that students may give to this question. This is by no means
a definitive list.

2 marks 1 mark 0 marks
01.1 T W aex NN | [2 marks]
01.2 am>s TN N nTYon | [2 marks]
01.3 NN T DY WY T N DY 01D M5V | [2 marks]
01.4 NPV NI THRON ©Y 799 "1 | [2 marks]

NB The whole sentence should be considered when awarding marks.

15
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Question 02

For this question, there are four compulsory bullet points, which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 40 words over the whole question. The number of
words is approximate and you must mark all work produced by the student.

[16 marks]
Content
Level | Marks | Response

5 9-10 | A full coverage of the required information. Communication is clear.

4 7-8 | A good coverage of the required information. Communication is mostly clear
but perhaps with occasional lapses.

3 5-6 | Areasonable coverage of the required information. Communication is
generally clear but there are likely to be lapses.

2 3-4 | A partial coverage of the required information. Communication is sometimes
clear but there are instances where messages are not conveyed.

1 1-2 | A minimal coverage of the required information. Communication is often not
clear and there may be frequent instances where messages are not conveyed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Quality of language

Level | Marks | Response

3 5-6 | Uses a variety of appropriate vocabulary and grammatical structures.
Generally accurate.

2 3-4 | Vocabulary and grammatical structures generally appropriate to the task, with
some attempt at variety. More accurate than inaccurate.

1 1-2 | Vocabulary and structures used may be limited, repetitive or inappropriate.
There may be frequent errors.

0 0 The language produced does not meet the standard required for Level 1 at this
tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Quality of language, but apart
from that, the Content mark does not limit the mark for Quality of language.
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Bullet

Comments

DYV NYVYN TN

A short description of a bedroom.

DYV M2 2V XY NN IV NN

Student must include something good about his/her house
/something he/she likes and something not good/
something he/she does not like.

2N 7YY NN

Any shop will do, even if they write ‘supermarket’.

D2 DOYY NNOWA DIVIY DNN NN
YN

Any activity done on Sunday is acceptable eg — playing
football or eating out etc.

The following indicative content is an example of the response that students may give to this question.

AN N9 NV W YOW NPY TN .DYTH KXY YHW NOW 9 TNN

917 N NY PR YN WTN NAVN 1D W Y50 MmN NN ANIN MIN

LDV NPIND NNPY IMNOOIN,OPININD ¥ O5Y 1A T Oy

DOV DN DY PINSD DINTI PHYN NN NYRI D2

(47 words)
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Question 03
The translation is assessed for Conveying key messages (5 marks) and Application of grammatical
knowledge of language and structures (5 marks), as specified in the criteria below. The maximum
mark is 10. When awarding the marks, the student’s response across all five sentences should be
considered as a whole.
[10 marks]
Conveying key messages
Level | Marks | Response
5 5 All key messages are conveyed.
4 4 Nearly all key messages are conveyed.
3 3 Most key messages are conveyed.
2 2 Some key messages are conveyed.
1 1 Few key messages are conveyed.
0 0 No key messages are conveyed.
Application of grammatical knowledge of language and structures
Level | Marks | Response
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.
3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 The language produced does not meet the standard required for Level 1 at this
tier.
Notes
A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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Key messages

The translation is divided into 12 key messages (see below). As a general rule, the wrong person or
wrong tense of a verb will not receive a tick. Minor inaccuracies, such as incorrect gender or adjectival
agreement, will not on their own prevent the award of a tick.

Message Accept Reject

1 | Shelives ) NN MM

2 |inanew house. vTNN N2 /WTN Nd1a 1oP 12
3 Sometimes | visit my YHY NNID NN NP MIN DMIYAD

grandmother

4 | after school. DTN MINN /990 N MINN 9901 11 N9Y

5 | My father is a doctor N9 NIN /N9 DV NIN NN NIX
T2 NI /NYP TRI T I

6 | and he works very hard. NG NUD N9 DY NI
. NTHN 0PN LY OV NTHN D2

7 | On my birthday, ' e ' o ol

g | . ¢ ¢ YNI5N NN /NTYOND SNION YOS 1917 N

went to a restauran 1YDNn5 nTYoNY oM

9 | with my sister. YMINK DY /% MNX DY YV NN DY

10 | My brother is married M NN MV MDY NN PY1ONN /P MW NN

11 | and he lives M NIM ) oM

12 | in Tel Aviv. 2AN-5N2 DYYYIPA

Other reasonable alternative translations will also be accepted.

A tick will be awarded for each key message that is communicated, despite any minor inaccuracies. The
total number of ticks awarded equates to a mark according to this table.

Total ticks Mark
12 5
10/11 4
7/8/9 3
4/5/6 2
1/2/3 1
0 0
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Question 04

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

[16 marks]
Content
Level | Marks | Response

5 9-10 | A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.

4 7-8 | A good response covering all aspects of the task. Communication is mostly
clear but perhaps with occasional lapses. Quite a lot of information is
conveyed. Opinions are expressed.

3 5-6 | A reasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

2 3-4 | A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.

1 1-2 | Alimited response covering some aspects of the task. Communication is often
not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.
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Quality of language

Level

Marks

Response

3

5-6

A variety of appropriate vocabulary is used. Complex structures and sentences
are attempted. There are references to three time frames, which are largely
successful. Errors are mainly minor. Some more serious errors may occur,
particularly in complex structures and sentences, but the intended meaning is
nearly always clear. The style and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt
at complex structures and sentences. There are references to at least two
different time frames, although these may not always be successful. There
may be some major errors, and more frequent minor errors, but overall the
response is more accurate than inaccurate and the intended meaning is usually
clear. The style and register may not always be appropriate.

1-2

The range of vocabulary may be narrow, repetitive and/or inappropriate to the
needs of the task. Sentences are mainly short and simple or may not be
properly constructed. There may be frequent major and minor errors. Little or
no awareness of style and register.

The language produced does not meet the standard required for Level 1 at this
tier.

Notes

(@) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language.
Apart from that, the Content mark does not limit the mark for Quality of language.

General rule for this question:

¢ the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not,
however, count as a reference to a present/past/future event (ie no annotation of Pr/P/F).
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Question 04.1 Content

Bullet

Comments

DONYTY , 012 NN NV NIMINRD

Any meal, if a justification/reasoning is included.
Students can choose to include a shack they eat at
break as long as their justification is convincing.

TNINNDIN PNIN DY DOINYT

Can express a positive or negative opinion as long
as the statement is justified.

92¥2 NTYDNI DNDOINRY NV NNMIN

Must include verbs in the past tense.

: DOV XAN NTHNN DY DX INNT ITYN NN
NTYONIINX N1

Must answer in the future tense. Using the verb
‘want’ is considered ‘future tense’. Students will have
to talk about one of the two; either a restaurant or at
home.

Question 04.2 Content

Bullet

Comments

MVAN HY MVNN

NIND YIN2 NYAIN DY MINTIDM NININY

Students must include both advantages and
disadvantages

932y NTNYH NYVIN

Must include verbs in past tense

IININ NYAINI MWYY ININY MDY

Must include verbs in future tense

Question 04.3 Content

Bullet

Comments

A OINN DXTID TYNN OW MNION NI
N2ONN 90N

Students must write about both advantages and
disadvantages.
Students must refer to higher education.

TNYA TIOY INANY WNINPN

Students must address this bullet point in the future
tense.

N OOYY PYA,NVIDIDNND TINDY PTY NN
NINN Y2

Students are not required to write about the
advantages and disadvantages of both options,
choosing to talk about one of the two options is good
enough as long as they include justification/reasoning.

92y32 DYV NOPON NTIAY

Students must write in the past tense.
Will accept writings about jobs done in the evening
after a day in school.

22




MARK SCHEME - GCSE MODERN HEBREW - 8678/WF — JUNE 2022

The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either

Question
04.1

This is a possible response (indicative content):
STND 2Y7 NN 122 DP OIXR YR YD DA NP N2IVN ININD NRT P2 DNIR INYTH

D212 DN DN OMNNNY DIVIN DTN 111 129 NI N .ININHDY IMIN 27NN X2 IN
229V DNIND MY IN WA DIDND

TIPOY MIND NNIYNXI TIND MPI PINONDIN .IOYW RNID DY NTYDNY YNNY 12yY M1ava
NN NN YT XN YTIND NN NTYONY NIND IMNPHN WHN MIN .OIN TN DY P1OD SMININ
Y0 NTYDNI NTHIN O INNT N AN NN SNYTY .DX12N 990N PRIN OHY NTONN O
.MIVY TNN YA DN BN I ,NTIAY NINY TON

(99 words)

[16 marks]

or

Question
04.2

This is a possible response (indicative content):

VAN, AN DY DINND NYNN JY DINON DV

TUNRNT N 9NNY YT IIMNMNNNY DIDIN) NYP DX DY PNRYN .TNHD MAIWN MYIHN

NND DN NYP DITY DININ .DITID

NN D NP AN N2 NN T DY YN DIV NIANIN KD MIN ¥ MIININI YN N> TYN NN
N D YIND NIN2 NYN NDTYN XTINN .NIMN YNNI MMINA NITNONI NOWN NN 1IN
PIYN NPIAIN PONY NI

STRD 1IN NNV D22 IPNY .TPININ DITTY NYDI PN NwaNa

DNINOTINT XD MNPN 9 992 .HNIWIOHY RNAD) NID NN IPAN INIAN PPN NYaINa
STAYN P NT.DIINTINDY MTYDN JIT NI .OMION YIVIND NN 17 )3

(100 words)

[16 marks]

or

Question
04.3

This is a possible response (indicative content):
2PN DX TIION DPD INNY DI PYN HY NMIDIN HY 2INON OV

D»DY DY TNYA NN NDIDN DINT ON YD NN MINN NINPN TINDY IWN INYT

7 NP2 IR TINDD HYND .M DNOY NP MISPN TIDY NN 1PYIN NNONNL DXTIDY
.ONY

NDIINM PIDD NN DY MINPN NYOINYTY .ANIDT TINDY ININ NN DO TIDN DPD MINN
Rphlb)

INNNY NP TIATY 32722 MNTIN TPNN NNT .NINN PY2 NOIDIDIND TINDD PTY ONYTD
NPNIIND MNYIL DIPN IWPNIN JIN DY NINAVHN D 70NN DINN .DWTN DX12N W)
NN NIPD NTIAYN YN N DY ONTIY NP NINHDA TATH ONMN 1YY PN NYOINI

(93 words)

[16 marks]
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